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QUESTION 1

Which of the following is a valid synchronization status as an output to fw ctl pstat?
A. Unable to receive sync packets

B. Sync member down

C. Synchronized

D. Communicating

Correct Answer: A

QUESTION 2

Which of these commands can be used to display the IPv6 routes?
A. show route

B. show ipv6 route

C. show routes all

D. show route ipv6

Correct Answer: B

QUESTION 3

Which routing protocols are not supported with GAIA OS running VTIs?
A. RIPv1; RIPv2

B. BGP

C. Static routes

D. OSPF

Correct Answer: A

QUESTION 4
OF the following, which is NOT a kernel parameter relating to the IPS "Bypass Under Load" settings:
A. ids_timeout

B. ids_tolerance_no_stress
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C. ids_assume_stress
D. ids_limit_stress

Correct Answer: D

QUESTION 5

Which of the following statements about Full HA support with IPv6 is NOT true?
A. There is no Dynamic Routing with IPv6.

B. Mirrored Interfaces must have IPv4 addresses.

C. Sync traffic must be IPv4.

D. IPv6 does not support a Secondary Management Server.

Correct Answer: D
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